
ACEG-2009090101

TTI Model No. :  099611001
Description: 230~240V \ 1500W AC EDGER \ HED1520
Customer No.: HED 1520

Revision Effective Date Checked By

01 1-Sep-09 Vigor.panHL-ECR0908038 release spare part listing

Spare Part Listing
SPL Serial No.:

ECR No. Change Description Details

Form No.:NPIF0017-A2 1

toolspareparts.com.au

Schuman.Yi
New Stamp



Spare Part List HED1520(099611001) ACEG-2009090101

ITEM TTI P/N   COMPONENT NO. DESCRIPTION QTY REMARK

1 099611001001 Spring Cord 1
2 099611001002 Screw (M4 x 16mm) 30
3 099611001003 Handle Housing L 1
4 099611001004 Switch 1
5 099611001005 Trigger 1
6 099611001006 electric capacity 1
7 099611001007 Cord clamp 1
8 099611001702 Handle Housing R Assembly 1
9 099611001009 Power Cord 1

10 099611001010 Auxiliary Handle 1
11 099611001011 Auxiliary Handle Collar 1
12 099611001012 Upper pole 1
13 099611001013 Upper Collar 1
14 099611001014 Lower Collar 1
15 099611001703 Lower Pole Assembly 1
16 099611001016 Ari Damper 1
17 099611001017 Screw (M4 x 30 mm) 3
18 099611001018 Axle Pin 1
19 099611001019 Axle 1
20 099611001020 motor housing R 1
21 099611001021 Screw (M6 x 41 mm) 2
22 099611001022 Motor Cover 1
23 099611001023 Wheel 2
24 099611001024 washer(M8) 2
25 099611001025 Lock Nut 2
26 099611001704 motor housing R Assembly 1
27 099611001701 motor Assembly 1
28 099611001027 Depth Adjustment Knob 1
29 099611001028 Nut (M4) 4
30 099611001029 Ari Outlet 1
31 099611001030 Screw (M4 x 12mm) 1
32 099611001031 Ari Outlet Cover 1
33 099611001705 Motor Hosing L Assembly 1
34 099611001033 screw (M4 x 45mm) 4
35 099611001034 Front Wheel Cap 1
36 099611001035 Front Wheel Axle 1
37 099611001036 Torsion Spring 1
38 099611001037 Front Wheel 1
39 099611001038 Front Wheel Arm Axle Pin 1
40 099611001039 Front Wheel Arm 1
41 099611001040 Lock Nut (M6) 1
42 099611001041 Hex Nut (M6) 1
43 099611001700 Guard Assembly 1
44 099611001043 screw (M4 x 50mm) 4
45 099611001044 Blade Nut(M10) 1
46 099611001045 Blade Washer 2
47 099611001046 Blade 1
48 099611001047 Lock Nut(M8) 1
49
50

Form No.:NPIF0017-A2 2

toolspareparts.com.au

Schuman.Yi
New Stamp



toolspareparts.com.au

Schuman.Yi
New Stamp




